CHAPTER

Counting of Figures/Figure
Formation & Analysis,
Grouping of Figures

DIRECTIONS (Q. 1) : Among the four answer figures, which
figure can be formed from the cut-pieces given below in the
question figure’!

L

Question Figure:

B

Answer Figures:
(a) (b} ic) (d)

(SSC CGL 1% Sit. 2010)

2 How many triangles are there in the following figure ?

(SSC CGL 1% Sit. 2010)

@ 11 b) 13 © 9 d 15

Among the four answer figures, which figure can be formed g

from the cut pieces given below in the question figure ?
Questions Figure : (SSC CGL 2" Sit, 2010)

el
AN
c

Answer Figures :

(@) (b)

(©) (d)

How many triangles are there in the following figure ?

(SSC CGL 2™ Sit. 2010)

@ 20 (b) 24 © 28 (@ R

5

6.

7.

How many rectangles are there in the given diagram?

(SSC CGL 15 Sit. 2011)
(a) 4 by 7 () 9 (d 18
How many triangles are there in the given figure?
A B

¢ (SSC CGL 2" Sit, 2011)
(a) 16 (b) 14 (c) 8 (d 12
How many triangles are there in the figure ABCDEF?

(SSC Sub. Ins. 2012)

A B
E D
(a) 24 (by 26 (c) 28 (dy 30

In the question, one part of the problem figure is subtracted.
Select the option that shows the correct shape after
subtraction. (SSC Sub. Ins. 2012)
Question Figure

& -N=7?
Answer Figures

L\

(@ (b) © (d)
A series of figures are given which can be grouped as related
to students, artists and scientists. Select the groups into
which the figures can be classified.

(SSC Sub. Ins. 2012)

- Q & [

=y R
6 7 8 9
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. Pen 2. Flask

3. Book 4. Test Tube
5. School bag 6. Design

7. Flame 8  Flower

9. Painting

(@) (1,3,5)(2.4,7)(6.8,9) (b) (2.3,5)(1,6,7)(4.8,9)

(c) (1,2,6)(3.4,8)(7.5,9) (d) (3.4,5)(1,2,6)(7,8,9)
10. How many triangles are there in this figure?

Question figure :

(SSC CHSL 2012)

(a) 24 (b) 26 (c) 28 (d 20
DIRECTIONS (Qs. 11-18) : 4mong the four answer figures, which

figure can be formed from the cut-pieces given below in the
question figure?

11. Question Figure : (SSC Multitasking 2013)

i
AN

Answer Figures :

idhecs

12.  Question Figure :

>
P

Answer Figures :

JBDBID

(a) () (c) (d)
13.  Which answer figure includes all the components given in
the question figure ? (SSC CGL 15t Sit. 2013)

Question Figure :

—
ODOO]
Answer Figures :
) [N S

(a) (b) (c) (d)

14. Identify the response figure from which the question figure’s
pieces have been cut. (SSC CGL 2" Sit. 2013)
Question figure

<J
P

Answer Figures,
(a) (b) c) (d)

15.

16.

Thereis a ball and a rectangular jar. Four positions are shown
below to keep them balanced. Which of the following will
not get balanced easily? (SSC CGL 1 Sit. 2013)

Question figures:

O U

Answer figures:

sl IR

(a) (b) (c) (d)
Which of the answer figures include the separate
components found in the question figure?
Question figure: (SSC CGL 15t Sit. 2013)

=
[0
Answer figure:

Nl

(a) (b) (c) (d)

(SSC CGL 1% Sit. 2013)
(a) 16 (b)y 18 () 20 (d 10
How many triangles are there in the given figure?

(SSC CGL 1*t Sit. 2013)

(@ 10 (b)) 12 (c) 14 (d 11

Find out which of the answer figures will exactly make uP the
question figure? (SSC CGL 15 Sit.
2013)

Question Figure:

I
|
Answer Figures:

(a) (b) (c) (d)
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20. Find out which of the following answer figures will exactly 26. Find the number of triangles in the following figure :
make up the question figure ? (SSC CGL 15 Sit. 2013)
Question Figure :
® ®
A%
A Fi (SSC CHSL 2015)
nswer rigures. @ 8 (b) 14 () 10 @ 12
O@ l:l. @: ?\& {E 27. How many triangles are there in the figure ?

21.

24,

25,

(@ (b) (© (d) . .
How many rectangles are there in the question figure ?
Question figure :

(SSC CHSL 2014)

(@ 6 (b) 7

© 8 @ 9

Among the for answer figures, which figure can be formed
from the cut - pieces given below in the question figure ?
Question figure :

€3

Answer figures :

SO Q| ||O

(a) (b) (c) (d)
Find out which answer figure will exactly make up the
question figure. (SSC CGL 15 Sit. 2014)
Question figure :

o

(SSC CHSL 2014)

- -

Answer figures :
OO | OO

(a) (b) (c) (d)

How many triangles are there in the give figure ?

D7

(SSC CGL 1°'Sit.2014)

(a) 48 (b) 60 () 36 (d) 52
Identify the answer figure from which the pieces given in
the question figure have been cut.

Question Figure

e
4

]

Answer Figure

(SSC CHSL 2015)

(a) (b) (c) (d)

28,

32.

(SSC CGL 1%t Sit. 2015)
(a) 24 (b) 14 (c) 2B (d) 20
In the question one part of the problem figure is subtracted.
Select the option that shows the correct shape by the
subtraction. (SSC CGL 15 Sit. 2015)

S\ =9
N AN
N =

How many triangles can be found out from the following
figure:

(@) (b)

(c) (d)

(SSC CGL 15t Sit. 2016)

(@ 17 (b) 21 (¢ 4 (d 25
How many triangles are there in the question figure?

(SSC CGL 1% Sit. 2016)
(a) 18 (by 24 © B (d) 30
How many triangles are there in the given figure?

(SSCCGL 2017)

(a) 20
(b) 22
(c) 28
(dy 32

How many triangles are there in the given figure?
(SSCCGL 2017)

@ 32 b) ¥ © 3 (@ 40
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33. How many triangles are there in the given figure? 41. Howmany triangles are there in the following figure?
(8SCCGL 2017) (SSC Sub. Ins. 2018)
(a) 14 (b) 15 (c) 17 (d) 18
34. How many triangles are there in the figure?
(8SCCGL 2017) (a) 10 (b) 18 (c) 16 (d 14
42. How many rectangles are there in the given figure?
(SSC CGL 2019-20)
(a) 10 (b) 11 () 12 (d 13
35. How many triangles are there in the given figure?
(SSCMTS 2017)
A D F
G H
B C E
(a) 16 (b) 18 (c) 8 d) 12
36. How many quadrilaterals are there in the given figure?
(SSC Sub. Ins. 2017) (a) 34 (b) 30 () 32 (d) 33

43. How many squares are there in the given figure?
(SSC CHSL 2019-20)

(2) 2 (b) 3 (© 4 d 5
37. Howmany triangles are there in the given figure ?
(SSC Sub. Ins. 2017)

||

(a) 29 (by 33 (c) 32 (d 34
44. How many triangles are there in the given figure?
(a) 24 (by 26 (c) 28 (d)y 30 (SSC CGL 2020-21)
38. How many triangles are there in the following figure?
(SSC CGL 2018)
(a) 34 (b) 32 (c) 36 (d) 24
39. How many triangles are there in the following figure? / \
(a 12 (b)y 8 (c) 11 (d) 15
\ 45. How many triangles are there in the given figure?
(@ 20 (b) 18 (c) 16 (d 2 (SSC CHSL 2020-21)
40. How many squares are present in the following figure?
(SSC CHSL 2018)
D
(]
(a) 16 (by 15 (c) 17 (d 14

@ 12 (b) 14 © 18 (@ 16
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Hints & Solutions

5. (d)

The triangles are :

AABC ; AABD ; AADC ; AAFC ;
AFDC ; AAFB; AFDB ; AFBC;
AGBD ; AADE ; AGBE ; AFDG ;
ADBE;

The figure may be labelled as shown.

B C

J
F E

The simplest triangles are ABG, BIG BIC, CIH, GIH,

CDH, HED, GHJ, HJE, FEJ, GFJ and AGF i.e. 12 in

number.

The triangles composed of two components each are

ABE, CDE, GBC, BCH, GHG BHG GHF, GHE, HEF and

GEFi.e. 10 in number.

The triangles composed of three components each

are ABH, AFH, CDG and GDE i.e. 4 in number.

The triangles composed of four components each are

BHF and CGE i.e. 2 in number.

Total number oftriangles inthe figure=12+ 10+4+ 2=28.

Thus, there are 28 triangles.

A B C D
K L

1 M E

I H G F
The rectangles are :
ABKJ; JKHI; BCLK;
KLGH; CDML; LMFG;
ACGI, ACLY, JLGI;
BDFH; BDMK; KMFH:
ADFI;  ADMJ; JMFI
ABHI, BCGHand CDFG are squares. We know
that every square is a rectanlge. But its reverse is not
always true.

Note : By option only its easy to analyze.

10.

11.
13.

(c)
(b)

(a)
(c)

(c)
(@)

(d)
(©)
(©)

()

H F

C [
The triangles are :
AAIH; AAIE; AEIB; ABFI;
AIHC; AIGC; AIGD; ADFI;
AIAB: AIBD: JA]C D:{ALAC:J
ABAC: AACD: ABDC; BDA
Total triangles =16
There are 28 triangles are formed in given figure.

EEN

A - B
I K P M
E 8]

T v S Q

D C

There are 28 triangles are in the given figure —

EOH, EDH, OFH, HFC, EFD, OGF, GBF, GFH,AGE, EOG,
EGF, GEH, AJL, IKE, KGI, IJK, LBM, PMF, GPL, LMP,
RQC, SRH, SFQ, SQR, DTU, EVT, TVU and VUH.

12. (a)
—
=

All the components of question figure are present in
the Answer Figure (d).

It is difficult to balance the ball and the jar in the position
as shown in Answer figure (c)

All the components of Question Figure are present in
Answer Figure (c)

s
A

10 cubes are visible and 10 cubes are hidden. Clearly,
there is one column having four cubes.

There are two columns each having three cubes.
There are three columns, each having two cubes.
There are four columns, each having only one cube.
Thus, total number of cubes

=4+ 6+6+4=20cubes
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18 (o) 28 (c) 29. (d) 30. (c)
3. (b) A
B G v
1
There 14 triangles in the given figure. These are "
AHO, ACB, BHO, BAD, ABE, ABD, BAF, ABG AOF, D
AFD, BOG BGC, ADO and BOC. The Triangles are :
19. (a) All the components of the question figure are present AABG AAGF, AABF, AABH, AAFH, ABGH, ABFH, ABFE,
in the Answer Figure (a). ABFC, ABHC, ABEC, ACHL ACHE, ACFE, ACID, ACED, ADIE,
ADHE, AFHE, AEIH, AFGHand DpDHC =22triangles.
32. (c) Total number oftriangles=37.
20. (b) All the components of the Question Figure are present B.© 3 1
in the answer figure (b). B p ELG
’ﬁ\‘: K T H
2.2/ The Triangles are :
21, (d) a B E_G ABC, AKL, AKJ, BDK, BHK, KLM, KIM, KHG FGE,
c | FHM, FHL, CDL, DEM, MIH, GDH, CHJ and KEL.
D F[—H So, total triangles are 17.
. = 4. (b) i
CJABCD, OOBEDF, O EGFH, CI FHIJ,
OJAECF, O EGIJL, OCFIK, OAGIK, OAEIK E F
2 @ BG D o C
2. (© The triangles are :
A @ LR —F 7 AABC, AABD, AADC, AAED, AAFD, ABEG, ABED,
AGED, ADFC, AFHC and ADFH.
G 7 H Total number of triangles = 11.
35. (b) According to figure,
A D F
C
AABC, AADC, ADBC, AAEG ABFH a i
AEIG AEID, AIGJ, AIDJ, B C E
ADKIJ, ADFK, AKJH, AKFH The triangles are :
AEDG ADIG AEGI, ADIG AAGD ; AAGB; AADB; AACF; AABC; AADC
ADFJ, AFHJ, ADHJ, ADFH ABGC; ABDC; ABDE; ADGC; ADHF; ADHC
AADG, ADGH, ADBH, AJEF éDCF.‘, _ADFC; APFE_; AC_HE; ACFE; AFHE
AGIC, AHIC, AGHC =28 Triangles Thus, there are 18 triangles.
28 x 2 =56 Triangles. 36. @ :
25 (d)
26. (b) E ¢
B F I
p D
2. (0 a—xKE = The quadrilaterals are :
é 4 . ABFE and AECB .
AABD, . ABDE, ADEC, Thus, there are 2 quadrilaterals.
AABC, AEBC, AACE, AARBE, 37. ) a__E B ;
ABEF, AFIG ACEH, AHGK,
AFGE, AEGH, AGIL, AILJ, i —r Xt
AGLK, ALJK, AGL, AGKJ,
C T ]

AGIK, ALIK, ABCH, AIHK,
ABFC, AFIK, AFCK, AHBI
Total Triangles =28

The triangles are :
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39.

41.

4.

(a)

()

@
(b)

(d)

AAIH ; AATE; AEIB; ABFI;
AIHC; AIGC; AIGD; ADFI;
AIAB; AIBD; AICD; AIAC;
ABAC ; AACD; ABDC; ABDA;
ABLD; ALDK; AKLJ; AJLB;
AJBK; ABDK; ADBJ; ADKJ
AADIJ; ACBK.

Thus, there are 26 triangles.

By simple counting, we get that number of triangles in
the given figure = 34.

Afier counting the number of triangles in the given
figure, we get that, total number of triangles = 18.
Number of squares in the given figure are 16.
According to figure,

A D F

B C E

The triangles are :

AAGD, AAGB, AADB, AACF, AABC, AADC,
ABGC, ABDC, ABDE, ADGC, ADHF, ADHC,
ADCF, ADEC, ADFE, ACHE, ACFE, AFHE
Thus, there are 18 triangles.

A B C
G He
H I b
] = L
M N
0 P W
o RI< X
T %
V U ~

The simplest rectangler are = ABGF, GHFL, HIJK, BCED,
EDKL, KLMN, MNOP, OPQR, QSVU, PWSX, SXTY,
TYUZ=12

43. (o)

4. (a)

45. (b)

The rectangle composed of two components each are
= ABHI, GFIK, BCKL, EDMN, KLOP, MNQS, OPVU,
PWTY, RXUZ=9

The rectangle composed of three components each are
= ABJK, BCMN, EDOP, KLQS, MNVU, PWUZ=6
The rectangle composed of four and more than four
components each are = BCOP, KLVU, EDQS, ACJL,
BCVU, OWUZ=6

Total rectangles are=12+9 + 6+ 6 =33.

A B E G 1

cl_Ib | lu |,
K_L M o_|p
rRL_Is |1 Ju |v |w
C' | G
F 1
Z, Ar B‘ J
DI " T T K‘

Smallest Square :

ABCD, BDFE, EFHG GHIJ, CMND, DNOF, FOPH, HPQJ,
KRSL, LSIM, MIUN, NUVO, OVWP, PWXQ, RZA'S,
A'SIB.VFG'W,GWXJ,BDEC,FHI'G, GTK'J
Square formed with four squares -

AMOE, EOQI, CFVL, FVXI], BNPG, DUWH, KZB'M,
VHK'X,OFI'Q

Square formed with nine squares -

AGWI, BUXI

Hence, there are 32 squares are there in the given figure.

There are 12 triangles in the given figure.

D b C
H
\G
i F/
1
A B

Triangles= AABD, ABCD, AACD, AABC, AADJ, AABJ,
ABCJ, ACDJ, ADEJ, ACEJ, ABEJ, ACFJ, AGHIL, AFGH,
AFGI

Hence, total no. of triangles = 15



